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la. Activity-based costing is appropriate when a project can be divided into
defined activities so there is no overlap between them. Also, the amount of
time and cost spent on preparing the cost drivers must not be so great that
they exceed the benefits. It is also appropriate when the number of activities
is uncertain or may change during the estimate process (Activity Based
Costing, n. d.).

1b. In traditional cost accounting it is assumed that cost objects consume
resources whereas in ABC it is assumed that cost objects consume activities.
Traditional cost accounting mostly utilizes volume related allocation bases
while ABC uses drivers at various levels. Traditional cost accounting is
structure-oriented whereas ABC is process-oriented (Emblemsvag, 2006).
2a. Operating leverage is the highest in e-commerce companies. E-
commerce companies have very low variable costs but high initial up-front
development cost. For example, Amazon. com initially had a fixed up-front
development cost of over $60 million but no per transaction cost (Economics
of Electronics Commerce, n. d.). Operating leverage is the lowest in
merchandizing companies. Such companies mainly engage in the buying and
selling of goods. Their fixed costs include mainly storage and selling costs. A
higher proportion of their costs is variable costs such as packaging of goods
and transportation costs. In between, service companies have a higher
proportion of fixed costs and hence higher operating leverage than
manufacturing companies. Service companies, such as hair salons, incur a
fixed amount of rent, staff salary, and facility and equipment cost regardless
of whether there are any customers. Variable costs, such as shampoo, are a
very low proportion. Manufacturing companies have a lower operating
leverage than service companies and e-commerce companies but higher
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operating leverage than merchandizing companies. Their fixed costs include
land, equipment, machinery, plants, and facilities. However, they also have a
high level of variable costs such as direct labor and direct material.

2b. Operating leverage can be increased so that the impact of increase in
sales goes almost entirely to the profits.

3a. An example is the determination of the units of products to sell in order
to break even.

3b. If the 10% increase in sales is caused by increase in sales price, then the
revenue line is shifted upwards to the left. The breakeven point would be
decreased and the profits would be increased assuming that the company
sells the same volume. If the 10% increase in sales is caused by increase in
volume, this represents a shift to the right along the revenue line. The
breakeven point would still remain the same but profit is now increased as
the gap between the revenue line and the total costs line increases. If the
company has been operating at a loss, then, the loss is now decreased as
the gap between the revenue line and the total costs line decreases.
OPERATING PROFITABLILITY

McDonald's

2005 Operating profit margin = Net income + Interest

Sales

= (2602. 2 + 356. 1 - 36. 1)/20460. 2

= 14. 28%

2004 Operating profit margin = Net income + Interest

Sales

= (2278. 5 + 358. 4 - 20. 3)/19064. 7

= 13. 72%
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Burger King

2006 Operating profit margin = Net income + Interest
Sales

= (27 + 72 + 18)/2048

=5.71%

2005 Operating profit margin = Net income + Interest
Sales

= (47 + 73)/1940

= 6.19%

McDonald's

2005 Return on assets = Net income + Interest
Average total assets

= (2602. 2 + 356. 1 - 36. 1)/[(29988. 8 + 27837. 5)/2]
= 10. 11%

2004 Return on assets = Net income + Interest
Average total assets

= (2278.5 + 358. 4 - 20. 3)/[(27837. 5 + 25838)/2]
=9.75%

Burger King

2006 Return on assets = Net income + Interest
Average total assets

= (27 + 72 + 18)/[(2552 + 2723)/2]

= 4. 44%

2005 Return on assets = Net income + Interest
Average total assets

= (47 + 73)/[(2723 + 2665)/2]
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= 4. 45%

ASSET UTILIZATION

McDonald's

2005 Total assets turnover = Sales

Average total assets

= 20460. 2/[(29988. 8 + 27837. 5)/2]

=0.71

2004 Total assets turnover = Sales

Average total assets

= 19064. 7/[(27837. 5 + 25838)/21]

=0.71

Burger King

2006 Total assets turnover = Sales

Average total assets

= 2048/[(2552 + 2723)/2]

=0.78

2005 Total assets turnover = Sales

Average total assets

= 1940/[(2723 + 2665)/2]

=0.72

McDonald's

2005 Average collection period = Average receivables
Average daily sales

= (795. 9 + 745. 5)/(20460. 2/365)

= 27. 4 days

2004 Average collection period = Average receivables
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Average daily sales
= (745.5 + 734. 5)/(19064. 7/365)
= 28. 3 days

Burger King

2006 Average collection period = Average receivables

Average daily sales
= (109 + 110)/(2048/365)

= 39. 0 days

2005 Average collection period = Average receivables

Average daily sales

= (110 + 111)/(1940/365)

= 41. 6 days

RISK MANAGEMENT

McDonald's

2005 Total debt ratio = Total liabilities
Total assets

= (29988. 8 - 15146. 1)/29988. 8

= 0. 49

2004 Total debt ratio = Total liabilities
Total assets

= (27837. 5 -14201. 5)/27837. 5

= 0. 49

Burger King

2006 Total debt ratio = Total liabilities
Total assets

= (2552 - 567)/2552
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=0.78

2005 Total debt ratio = Total liabilities
Total assets

= (2723 -477)/2723

= 0. 82

McDonald's

2005 Times interest earned = EBIT
Interest payments

= (2602. 2 + 356. 1 + 1099. 4)/356. 1
= 11. 39

2004 Times interest earned = EBIT
Interest payments

= (2278.5 + 358. 4 + 923. 9)/358. 4

=9.94

Burger King

2006 Times interest earned = EBIT
Interest payments

= (27 + 72 + 53)/72

=2.11

2005 Times interest earned = EBIT
Interest payments

= (47 + 73 + 31)/73

= 2. 07
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